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INSTRUCTIONS AND INFORMATION

Read the »following instructions carefully before answering the questions.
1. This paper consists of 4 pages and 6 questions.
2. Answer ALL questions, |
3. Number your answers EXACTLY as the questions are numbered.

4, If necessary, answers should be rounded off to TWO decimal digits, unless
otherwise stated. |

O

5. All the necessary working details must be shown.
6. Answers only wi‘ll not necessarily be awarded full marks.
7. It is in your own interest to write legibly and to present the work neatly,

- 8. An approved calculator (non-programmable and non-graphical) may be used
unless stated otherwise.

QUESTION 1

1.1 For which value(s) of xforx e {8 ; -1 ; 53}isvd + x | ¢
1.1.1 a rational number \ (1)
1.1.2 an irrational number | | 2)

1.2. Determine the two consecutive integers /53 lies between. (2)

[5]
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QUESTION 2 Determine the following products:

2.1 (3x + 2)(x + 1)
2.2 (2x + 3)(4x* - 6x + 9)

23 (@a+b-4)@+b + 4

QUESTION 3 Factorise fully:
3.1 8 -
3.2 3x* + 2xy - 8y?

3.3 2xF - 32

QUESTION 4 Simplify the following:

4x% — 12x + 36
4.1 *

x3 4+ 27
X — x—-1 3x~ 5
4.2 2 b2
X -1 2—x X2 — 3%+ 2

23%'- 1 2x+ i

4.3 P
5x+1 - BX

4.4 .
5% + pX-1
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(3)
(3)

(4)
[10]

(2)

(3)
[7]

(4)

(4)
[17]
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QUESTION 5
- - The city council plans to beautify the city centre with flower beds surrounded by
- hexagonal paving slabs according to the pattern in the sketches below.

oviien

One bed Two beds - O

5.1 How many hexagonal slabs are needed to surround four flower beds? (1)
5.2 Write a formula to generalise the relationship between the number of
hexagonal paving slabs(n) and the number of flower beds(T,) 3) -
5.3 How many hexagonal paving slabs are needed for 20 flower bed? (2)
5.4 Which flower bed will have 142 hexagonal paving slabs? (2)
. [8]
QUESTION 6

Ifa + b = 5andab = 2, determine the value of a* + b*.

(Show all necessary working details) [3]

TOTAL : 50 MARKS
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